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vy [ 10 [ 12 [ w4 [ 16 [ 18 [ 20 |

Vout(V) 6.332 6.350 6.361 6.368 6.374

6.379

lin(mA) 13.59 20.93 28.29 35.67 43.06

50.45

Sv_max=(AVout/AVin)*100%=(0.018/2)*100% = 0.9%
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Sv=(6.379-6.332)*10%=0.47%
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6.332 6.330 6.326 6.320 6.311 6.285

5.970

SL_max lade dewlore (&

SL=(Vout_minLoad — Vout_maxLoad)/ Vout_normLoad *100% = (5.97-6.332)/6.32 =5.728%
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vy [ 10 [ 12 [ w4 [ 16 [ 18 [ 20 |

Vout(V) 5.662 5.674 5.682 5.689 5.694 5.699
lin(mA) 19.16 26.54 33.93 41.32 48.72 56.11

w2 oS Lo > o (@
Sv_max=(AVout/AVin)*100%= (5.674-5.662)/2 *100 = 0.6%

el ol JS 959

Sv=(5.699-5.662)/10 *100 = 0.37%
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5.662 5.658 5.654 5.649 5.643 5.636 5.627

SL_max ladie dewloe (&

SL=(Vout_minLoad — Vout_maxLoad)/ Vout_normLoad *100% =(5.627-5.662)/5.649 *100=0.619%
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Vin(V)
Vout(V) 5.739 5.760 5.775 5.788 5.799 5.810
lin(mA) 11.11 13.13 15.15 18.18 19.19 21.20

o oSl Sl s (0

Sv_max=(AVout/AVin)*100%= (5.760-5.739)/2 *100 = 1.05 %

el ol JS 959

Sv=(5.810-5.739)/10 *100 = 0.71%
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5.739 5.739 5.739 5.739 5.739 5.739 5.739

SL_max jlade el (&
SL=(Vout_minLoad — Vout_maxLoad)/ Vout_normLoad *100% =(5.739-5.739)/5.739 *100=0.0%




